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1, IMF World Economic Outlook(20.10€)

2, CERA(20.11€)




202149 AHAY BYI}
- ol = = I 9 & K
= [ A B &) 044-215-)
Al F 4 2713
= 3 = 3+ A =i

cblb - == °%°Xﬁrﬂi% 2714

o] = X

] B o
ddo A A A A E A (M7 #) 2731
Wz A& v | A AE NG A H A 2732
= = A ABAAENF A H & 2734
A A A A | A A BN o & 2733
= A | A A B G o ¥ OF 2736
A A AANA A G " A A 2832
Il £ 1A 783 & d & 2812
= P EFA AR A 2771
e A AR FeAAAdE g oo F 2852

H 2 o I R
7 A F A A4 2 A A T = A 2755
= ¥ A & A A9 F 2754
TAFEANFA| A F S F o & F 4716
9 & A FH | Y g AFTH o A A 4733

_40_



